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e : (1) | 9 @ g i)

Note : Attempt all questions.

(ii) W FHE 8 W 17 a9 % YAl H 3tiafier faseq fag m €1

Internal options are given in Question Nos. 8 to 17.

T . () 9 FHiH 1 TS IH &1 79 97 @S § 1 e () |
Fgfagedta @, @ve (9) A f Al & qfd o w7 aon
@z () § S 70 o v ¥ vl @ A 5 Y E
A1 TAF YA W 1 3 IyEfea ¥

Instruction : (A) Question No. 1 is an objective type question. It has three
sections. In Section (A) Multiple choice questions, in
Section (B) Fill in the blanks and in Section (C) Match the
following are given. Each section has 5 questions. Each

question carries | mark.
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[2]
-1 (Bv8-31) WeY Ty e e : [1373]

(Section-A) Choose and write the correct option :

() e e e, it e ) 1 e P e & g
(3) =-wgforen (@) w-agrgforen
(/) " () =
Following technique produces seedless water-melon, papaya

and banana :

(@) Autopolyploidy () Allopolyploidy
(¢} Hybridization (d) Selection

(i) AR W At o
(¥) =gl dag

(@) urrgy gereqgy

(%) g sifgg

(2) I
Botanical name of soybean is :
ta) Glveine max

(b} Pisum sativum

(c) Phaseolus aureus

(d) Crotolaria juncea

(i) J@ET-10 & - o wra
( 37) 39gA drae ffqud |
(&) I9g umHErE
(#) 3vga Yfufearad 4
(2) 3909 |4l
Diplostamenous of androecium-10 is
(a) Subfamily - Caesal piniaceae
(b) Subfamily - Mimosoideae
(¢) Subfamily - Papilionaceae

(d) All of the above
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(iv) SAfed v o Ft 3e0= w4

(37) 15 el Fed (@) 17 frel &erd
(8) 19 Pred Feirdh (7) 21 feh &erd
Anacrobic respiration produces encrgy
(@) 15k calories (h) 17 k calories
(¢} 19Kk calories (d) 21 k calorics
(v) vawd U Ya-vanafes fem ¥, form g vadl e g
(37) FgHEA
(7)) JAMYIA
(%) atfedrRTm
(7) v A

Respiration is bio-chemical process in which food materials are :

{a) reduction
(k) decomposition
(¢) oxidation

{(d) None of these
gw-1  (wve-w) fraa et &) gfd @it [1x5=5]
(Section-B) Fill in the blanks :
(i) = et &1 da )
Potato is plantof _ family.
(ii) "I F TH fetrit & 1
Flower of peais  sexual.
(i) ArgatnE 7ol & HEH Fed ¥
A unit of parental character is called
(v) wBt__ mEwEz
Order of mosquito insectis

(v) ﬁ"ﬁ’ﬂﬁﬁmﬂﬁ_,mp

Mouthpart of locustis ____
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' WA-1  (@us-®) 9 S a9Ry [1x5=5]
(&) (@)
() WA (37) CHy0,

(i) TR I (@) (NH,),S0,
(iii) g () HCl

(iv) ST T () (C,H,),80,
(v) SEUUS Wehe (§) C3Hg
(Section-C) Match the following :
(A) (B)
(/) Propane (a) C,,H,,0y,
(/1) Hydrochloric acid (b) (NH,),S0,
(211} Sucrose (¢) HCI
(iv) Ammonium sulphate (d) (C,H;4),504
{v) Diethyl sulphate (e) C;Hg
e : (F) TH wHE 2 ¥ 7 9 AfeegEaid 19 €1 & T W

2 3% HEfd &1 (W H Afshem T=-HH 30 UL ¥)
Instruction : (B) Question Nos. 2 to 7 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer 1s JU words)

UH-2  FEWias faw # U e S GaY § e [1+1=2]
Explain stomach poison with an example in brief.

-3 - 39 g9 &1 4a%d 7 Fiforg, foeat o 7 @, 1 [2]
Calculate the area of a circle whose radius is 7 cm.

wsi-4  fafu=ar &t gfoamn fafaw) : [2]
Define variation. ' '

WyA-5 HEE faaga gl - V2]
What is standard solution ? i A '

wH-6  NiF iH#ne? [2]
What is NiF gene ?

yE-7 @O gA @ e €2 [2]

What is meant by Empirical formula ?
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F (W) YA wHiw 8 @ 12 T TEwda 96 ¥ y@e W W
4 31 STt ¥ 1 (I %t xferaam w75 v &)

Instruction . (C :
+ (C) Question Nos. § 1o 12 are short answer type questions.

v -10

Each question carries 4 marks. (Maximum word-limit of

answer is 75 words)

WHERT % 7o fafaa (1 @) |

Write the properties of light (any four).

[1x4=4]

HUYFT/ OR

T $511 Ft $¢ 9K fasrwand fafau

Write any four characteristics of petrol engine.

Sﬁ'dr\s_'l-i.7..x-.6‘8me6%,?ﬂxﬂqﬁmm! [4]

Adata contains 4. 7, x, 6. 8 whose arithmetic mean is 6, then calculate

.

the value of x. - 0
37e/aT/ OR | A w7

frafafaa siwsl § afigen @ Hifag

64, 54. 59. 67, 70, 72, 73, 78, 83, 90

Calculate the median from following data :

64. 54, 59. 67, 70, 72, 73, 78, 83, 90

5 arit & agars Fd i [4]

0-10 | 10-20 | 20-30 | 30-40 | 40-50

Gl

2 10 8

CLes G

Calculate the mode from the following table :

| Class 0-10 | 10-20 [ 20-30 [ 30-40 | 40-s50

2 10 8 7 3

Frequency

P.T.O.
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e, OR
forg greoit @ wiftas [@ Hifau
[ i 0-20 | 20-40 | 40-60 | 60-80 | 80-100

[ smm | 2 70 |3 3

Calculate the median from the following table :

Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100

Frequency 2 7 10 3 3

WT-11 AR & frafafaa i & Tmifea o a9 ; [1x4=4]
(37) =T’ Y
(F) TAYH
(®) gH1
() Smm
Draw a diagram with labelled of following parts of pea plant :
(@) Calvx
(6) Corolla
(c) Androecium
(d) Gynoecium
37gar/ OR
TEA F T A 5 vd [ ¥ fafag [2+2=4]
Draw the floral diagram and write the floral formula of solanum nigrum.
W¥A-12  YHME-FEEU F] GfAd F a HE AR AR HRH B OGR9 H
qAAE | (4]

Explain any four external factors affecting to photosynthesis in brief.
3ear/ OR
A YR @1 JUIfgd FTA a1 Hi3 97 g FH H 489 T TR

Explain any four external factors affecting to aerobic respiration in brief.
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Instruction : (D) Question N
0s. 1

[7]

4 eIy ¥ yAw T W

2 (Q) :33:1 FF 13 w
ST Mmeifey §
|
(W"ﬁm‘?w-@m 750 1% &)

. 3 ang

Each qUestion earm 14 are short answer type questions.

answer j ATIes 5 marks, (Maximum word-limit of
SWeris /50 words)

T¥T1-13 ﬁruqmqfﬁfﬁgq :
[2V4+2Y4=5]

(37 fagq zoit
- ( FHEH
Write notes on : s
(a)  Electric
€ctric [ron (b) Electric Heater
- HIaT OR
e e 3 g et ot aferral a1 i 3 ot 28T [5]

Descri - ; :
be any five common devices used in domestic electric fittings

in brief

U¥-14 {39 9roit § 9w :
l fa=er 3@ Fif [5]
77 0-5 | 5-10 | 10-15 | 15-20 | 20-25
Al 6 10 12 10 8
Calculate the standard deviation from the following table :
Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25
| Frequency 6 10 12 10 8
Haar/ OR
fam @revit § afigea @ ang fager o 6 Hifag
I 77 0-10 | 10-20 | 20-30 | 30-40 | 40-50
] AT 5 8 15 16 6
Calculate the coefficient of mean deviation from median in the
following table :
Class 0-10 | 10-20 | 2030 | 30-40 | 40-50
Frequency 5 8 15 16 6
P.T.O.
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Instruction © (1)

18]

v HEE 1S R 17 1 dbawda A §) vew T W
o % s ¥ (I8 WY orferaem w-wlie 250 e )

o~
455

k)\i(\th*[] N\”\. ls 1)) I-/' are h“]g answer “,pc questions.

Lach question carries 6 marks. (Maximum word-limit of
answer 15 M words)

T 1 WS - U JLE0 T g | (6]

Classity enzyvmes with one example each.
var . OR

TEEwte % wftw i UH- U IR 2wt i)

Clavai aleohol with one example cach.,

3 = wfis v ffag (S Avav @ @) [1x6=6]
Write the economic importance of insects (any three advantages and
drsdh antages)

eEr/ OR
wynan w1 snfdw wee fiafao [6]
Write the economic importance of Honey-bee.
faata yarw fagqa 7@ &) dram vd & fafy fafau) [3+3=6]
Write the structure and function of vacuum photoelectric cell.

3waar/ OR

v AT ae W) wra vd w1 fafy fafe)

Write the structure and function of photo-voltaic cell.
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